NAME
CHEMISTRY
English System Conversions

ENGLISH SYSTEM
Convert the following values

L1256 > in {ZWV‘: Ow
- { £+ IS0
e D] B 4 s
[ i

3, 126 miles —
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5. 27 quarts — teaspoons
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6. 2pinis —

7. 250 poumis —
8. 1000 ounces —
9. 250 tons —

10. 150 Ibs -



NAME
CHEMISTRY

English Metric Conversions

GONVERT THE FOLLOWING l ZS L—/
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Metric English Conversions

6. What are the bridges between the English and Meiric world with respect to volume, mass, and length
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Name
Chemistry
Big Metric

, _/" Kilo (K)
The chart to the right shows Giga (G) Y
/

both the overview and closer
hecta (h)

Mega gvﬁ
;
Kilo {K)

look at the metric system. Step = 10

deca (da)

AH answers must be in

base
Base

Step 1000

1. 200m=mm Deci {d}

2001 lOwwngy[Db

e a14d)

Milli {m}

centi ()

Wi ()

milli {m)

2. 10GL=ML
joeti

16 34,000,000,000,000,000,000 i nana (n)

2|
T
3. 259 Mg=mg

o} . "
259Ms |l %6% 259 ¥ 10" ms
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5. 100,000 um= nm
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Name

Chemical Relationships

2H, + 10, = 2H,0

Detarmine the quantities produced or consumed. Show all work. Follow significant figures.

If 200.0 H; are consumed,

1. How many 0, are consumed? ZWHL(_I’@?: = [CD O*L

2. How many H,0 are cqnsumed? ZHp
2C0H, { 2O 55y H,O
Z-H,
CH; + 20, =» CO; + 2H,0
If a person is producing CO; at a rate of 2.50E5 molecules per second:
3. What is the rate the O, is being consumed? — <
. o 250007 (0 |20, _
4, What is the rate the water is being produced? i 7O =
: v

2.5 /0% 0 | Z—H?.O
) CO

— Cu+AgN03 ->Cu(NOs), + Ag
JW"“"' Ca F2A5N05 > (uliiDs), 12A¢

After a reaction has completed, 25,000. Ag atoms were produced,

5. How many AgNO; units must have been present? "Z»S}(JULAa ___2._;.4’3/\}@1’: 2‘51

&. Mow many Ag atoms can you extract from the answer from #57 J z

25,000 Ag

6CO; + 6H,0 - CHi05 + 60,

Note: 6CO; have a mass of 264amu, 6 H,0 have a mass of 108 amu, 1 C¢H1,05 has a mass of 180

amu,

7. {fyou have 250.0 CO; melecules, determine how many of every other reactant and product

needed or produced.
With the given information, how much mass does 6 O, contain?
. What is the mass of 1 CO,?
10. What is the mass of 1 H,07
11. Why the difference?

12. I 500.0 grams of CO, is reacted, how much mass {amu) of H;0, CsH1,0¢, O, are consumed or

produced?
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